FrbSern (e ¢ omis) —lngg. Dorevs oy el

(REVISED COURSE) QP Code : 11891
(3 Hours) [Total Marks : 60

Question number 1 is compulsory.
Answer any three from the remaining five.
Figures to the right indicate full marks.
Use first angle projection method only.

Q1 a) Draw an involute of a circle of 60 mm diameter. Also draw the normal and [6]
tangent at a point on the curve at a distance of 120 mm from the centre of the
circle.

b) The pictorial view of a machine part is given in the figure .Draw the
following views

iy  Front View [5]

iiy Top view [4]

Q2 Figurs given below shows the pictorial view of an object. Draw to full scale
the icllowing views )
)  Sectional front view(section AA) {51
i)  Top view {4]
iii) Left hand side view (4]
Insert 10 major dimensions 2]
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Q3 A square pyramid of side of base 40 mra and axis 70 mm has one of the [15]
triangular faces on the VP .Draw the preiections when the front view of the
axis is inclined 30° to the HP, keeping the apex nearer to the observer.

Q4 A right circular cone of base circie diameter 50 mm and axis 60 mm long is [15]
resting on its base-on HP. It is cut by a section plane which is perpendicular to
VP and inclined to HP such that the plane is parallel to the end generator and
10 mm away from.it. Draw che front view, the sectional top view and the true
shape of section. Alsc draw the development of the cone after removing the
portion containing fi¢ apex, '

Q5 a) A hexagonal priszn of 35mm edge of base and 70 mm length of axis is having [6]
an edge of Lase in the HP and the rectangular face containing that edge is
inclined 30" to HP and perpendicular to VP. Draw the projections.
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b:  The orthographic projecticns <7« ~biect is given in the figure below. Diyaw (9]
the isomelric view.
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Q6 a) The distance between the end projectors of z line AB is 40 mm. The end point {7]
A is 15 mm above the HP and 20 mum in iront of the VP. The line is inclined
30° to the HP. Draw the projections it the true length of the line is 80 mm.
Find its inclination with the VP. Taks end point B in the 1 quadraat.
b) Draw the isometric view of the given views. [8]
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